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 The winner of World Welterweight title

SECTION - A
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i) General Awareness

6.
of Boxing is

(A) Floyd Mayweather Jr
(B} Demetrius Andrade
{C) Comelius Bundrage
(D) Manny Pacgquiao

Lag Baomer festival is associated with
which religion 7 T

(A} Islam

(B} Jewish
(C) Jainism
(D) Buddhism

Ruth Rendell, who died recently, was a
well known

(&) Crime writer

(B) Environmentalist
(C} Photographer
(D)  Journalist

Which country is venue for the first
avar Asltan Youth Athletic
Championship-2015 7

(A) Qatar
(B} China
(C) Jordan
(0} Japan

Seema Punia, who was recommended
for Khel Ratna award represents which
sportfevent 7

(A) Discus throw
(B) Chess

{C) Tennis

(D) Badminton

10.

Which one of the following is often
called “Twitter of China™ ?

(A) Woe chat
(B) Sina Weibo
(C) Youku

(D) Tudou

Which of the following cities has highast
vehicle density in India ?

(A) Mumbai
(B) Kolkata
(C) Chennal
(D) Bengaluru |

The United Nations was founded on
{(A) March 24, 1945

(8) Oclober 24, 1845

(Cy March 24, 1949

(D) October 24, 1950 o i

i L™
= 4

There ara members of
SAARC. ' :

(A} 5
(B) &

s

; |

(C)
(2}

The currency of Indonesia is
Ruplah

Dinar

Rangit

Riyal

(A)
(B)
(C)
(D)
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A

World War | was bagan in
(A) 1912
(B) 1914
(C) 19186
(D) 1918

The Atomic Bomb was dropped on the
city of Hiroshima on

{A) 3 August, 1945
(B) 6 August, 1945
{C) 9 August, 1945
(D) 12 August, 1945

Whal was the name of Atomic Bomb
that dropped on the city of Hiroshima ?

(A) Little Boy
(B} Fat Boy
(C) Littie Man
(D) FatMan

. The ratio of width of our National flag to

its length is
(A) 3:5 '
(B 2:3
(C) 2:4
(D) 3:4

'Matya-Shastra’ the main source of
India’'s classical dances was written by

(A) Nara Muni
(B} Bharat Muni
(C) Abhinav Gupta
(D) Tandu Muni

16.

17.

18.

18.
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Which is the national bird of Pakistan 7
(A) Markhor

(B} Pamot

(C) Pigeon

(D) Chakor

Which country is the world's I&rpuat
producer of coffee 7

(A} Taiwan

(B} UK
(C) Brazil
(D) Switzerand

The dance encouraged and parformance
from the temple of Tanjore was

(A} Kathakali

(B) Odissi

(C) Kathak

(D) Bharatanatyam _
What is the world's largest living
mammal 7

(A} Elephant

(B) Blue Whale

(C) Shark

(D) Giraffe

How many squares has a chessboard 7
(A) 24
B) 52
(C} 45
(D) 84

2B
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A

Tect o g e w7
(A) 1912
(B) 1914
(C) 1916
(D) 1918

fetfern o vy sy e Rz an 7
(A) 3 3PTEd, 1945
(B) 6 3T, 1945
(C) 93, 1945
(D) 12 3, 1945

Tt w2 v oy A 7
n) Frmatg

(B) %zaig

(C) Freafm

(D) %ezie

BAR g = 1 FaT 300 o 4 5m
HTAHR

(A) 3:5

(B) 2:3

(C) 2:4

(D) 3:4

W T R w5 WE w6 -
e gE e

(A) FrgR

(B) wagH
(C) whma =

D) wzgh

16.

17.

18.

20,

JDD-B5/STAT/X-15

TR Ty efi R
(A) HRER
(B) @

(C) o
(D) =R

Torva i1 srferem by eqres 3 2
(A) =

(B) ¥wete

(C) wrferE

(D) Tz

Torra # wafifa sfv gt faar mn
a7

(A) =wue

(B) aitfzd

(C) =uh

(D)  WEFTEEm

Torva o sefirem forrer e w2
(A) et

(B) frer==

(C) Ik

(D) T

TTeta & e W e e w7
(A} 24
(B) 52
{C) 45
(D) 64
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iy General Intelligence and Reasoning Ability

(A) RRN
(B) QRN
(C) QRM
(D) QQN

. MHZ, NIW, OKT, PNGL, 7

61014 1822 26 30

(A) 3640
(B) 3347
(C) 3842
(D) 3438

Asthma : Lungs

(A) Bones
(B) Teeth
(C) Eyes
(D) Blood

Dismay : Joy :
(A) Regret
(B) Ignore
(C) Negligible
(D) Spoil

» Conjunctivitis © 7

: Tend ; 7

26.

27.

(D) Uncle

If B says that his mother is the onky
daughter of A's mother, How is A is
related to B 7

(A} Son
(B} Fathar
(C) Brother

‘Museum' is related o 'Curamf' in the
same way 'Prison’ Is related o

(A) Warden
(B} Monitor
(C) Manager
(D) Jailor

Find the uﬂdmm;ﬂaﬂﬂmm the
given alternatives. ey

(A) ABYZ -
(B) CDWX

(€) EFUV

(D) GHTV

Daisy Flower  .Plant
Bungalow House ?

(A) Building

(B) Cottage

(C) Apartmant
(D) City
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i) BT e A Al g

MHZ, NIW, OKT, PNQ, 7
(A) RRN
(B) QRN
(C} QRM

(D) QN

610 14 18 22 26 30
(A) 3640
(B) 3337
(C) 3842

(D) 2438

A1 : hg ¢ e §
(A) sfeE
(B) =@
(C) =iE

(D) T

HETEE [ ¢ e w7
(A) T T F

(B) 30 AT

(C) e

(D) e

25,

27.

28.

qis B ¥Ba ¥ T, 3o uf A % oWl 6
‘ﬁﬁ‘tﬁﬂﬁﬂtmﬂaaﬂwm#?

(A) ==

(B) T

(C) #m

(D) =M

Torm wahm e’ 2 “Hueae &
Tl 2 3 v T e
grafaa g |
(A) TE=w
(B) FEEE
(C) v
(D) =HEMEE
T Tt & o ey v 1 e
Y | ¢
(A) ABYZ

(B) CDWX

({C) EFUV

(D) GHTV

el g e
T HEW 7
(A) wETH
(B) i
(C) et
(D) w1#1
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Gt
25, A, B, C DandEaresitingonabench. | 31, If a boy starting from Nilesh, met to !
A is sitting next to B, C is sitting next to Ankur and then to Kumar and after this
D, D s not sitting with E who is on the he to Dev and then to Pintu and whole
left end of the bench. C is on the second the time he walked in a straight line, then
position from the right. A is to the right how much total distance did he cover ?
ofBandE.AandC ..'ara sitting together. (A) 215m
In which position A is sitting 7 B
(A) Between B and D ;o
(B) Between B and G W SR ™
(C) Between E and D D) 185
(D) BetweenCandE 32. There are five books A, B, C, Dand E
placed on a table. If A is placed below
Directions for Q. No. 30 and 31 : £, C Is placed above D, B is placed
Dev, Kumar, Nilesh, Ankur and Pintu are below A and D is placed above E, then
standing facing to the North in a playground which of the foliowing books touches the
such as given below : surfacs of the table ?
1. Kumar is at 40 m to the right of Ankur, Al ©
2, Dev lsat 60 m in the south of Kumar. ' o
3, Nilesh is at a distance of 25 m in the west W B
of Ankur. (C}y A
4. Pintuis at a distance of 80 m in the North D) E

of Dev.

33. Which word does not belong with the
= 30, Which one is in the North-East of the

person who is to the left of Kumar ? il
(A) Dev (A) couch
(B) Nilesh (8 e
(C)  Ankur (C) table
(D) Pintu () “shak

Ax

e
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29. A.B.C DIRETmUHIITAIE |ATe| 31, IR THagH Foma sme 1w i
B¥ Fem 31}, c 1= DF Fwaw 2, =1 foreren B, fib @am afn me 8 29 3in
DHEE ¥ a1y 781 421 2 S S Fad e iz @ e B | o s g & ae i T i

wda | G e S gt v e & 1 3 et 30 gt ot ¢

. ElATEB MR ESH TR s 2 1 a st (A} 215m
TuERE AmPE e (B) 155m ‘
(A) B3 D&Y (C) 245m i
(B) BaMCcHwm= (D) 185m
(C) EdRD#Hfad

32. THAS WA, B, C, D 3 E = = fard
(D) csfessfiad wind aReF MR anwmd, cH
DHFRTE R, BRI AFHIR D FE
Fréw (v. 7. 30 sk 31): F T T 2, A R A S R
o, Fom, e, s oiv fig s e o oin i o HaE ) s A R

A g T iR mm s we ¥ | A ©
1. FHW TR HH F A AR A0 mIAWE ®) B
2. TR % i R s som gt wEa d . ©) A
3. 305 % uivam fum i 3w 25 maft mREm R ) E

4, TEFIW WA g0 iz @
BRI 43, FAm e s ARy g 7

30. TR F A AR A I W (A) e
(A} 2z . |
| o g (D) et

(D) Tig |
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34.

Ax

S K £ is related to 8 W B in the same
way as Q 2 " is related o

(A) AVU
(B) aYB
€ 7BY
(D) BYV

Statements :

|. Thera was a huge rush of paople
o the temple last Sunday the 155
of the month,

Il. The temple authority had decided
to close down the temple for
repairs from 17" of the month,

(4) Statement | is the cause and
statement |l is its effect.

(B} Statement |l is the cause and
statement | isits effect.

(C) Both the statements | and |l are
independent causes.

(D) Both the statements | and Nl are
effects of independant causes.

In a certain code language, if the word
'RECTANGLE is coded as TGEVCPING',
then how is the word 'RHOMBUS' coded
in that language ?
(A) TJOQDWV
(B} TJONDWLU
(Cy TJQODWU

(D) TJQOEWU

=10-

JDD-85/STAT/X-15

37. Choose the alternative which is closely

resembles the mirror image of the glven
combination.

qutubgarh

1) puiudgsrd
2) dngnplaLy
3 hragbutuqg
4 dispdulup

o
Blo ho =

A person travels a distance of 7 km
lowards east from his house, then
travels 7 Km towards north and then a
distance of 7 Km fowards east and finally
7 Km towards north. What s the varfical
distance travelled by him (in Km) 7

(A) 7
(B) =28
(C) 14
(D) 21

Find the odd one out

{A) Stamp:Letter

(B) Ticket : Train
(C) Ink:Pen
(D) Care : Engine

If Eye Is called Hand, Hand |s called
Mouth, Mouth is called Ear, Ear is called
MNose and Nose is called Tongue, with
which of the following would a person
hear ?

(A) Eye

(B) Mouth

(C) MNose

(D) Ear

LT
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Ax

T TR S KE a9 0 WBH & =t
TN Q2 " FIHEY R

(A} AV U

(B) a¥YB

(Cy 7BY

(0) BYV

A -

Il oo 1Ram wdin & 1549 feawfa d
wg shg of

Il sfex el 3 wiis ) gowa % fw
¥ & 17 9 i B uf s
EARIEIR |

(A) a9 | T HEm 3 e | oo &

(B) e+ Il 98w R s s 38
it 2

(C) e | 3 1) = m FE 8

(D) A | 3 | 21 == F 0 F
g #

us fAfE e e i 'RECTANGLE' 158

% ‘TGEVCPING' %2 T = 2, 1
'RHOMBUS' 758 =l 31 w1 # fra wem
&2 B s ¢

(A) TJOQDWV
(B) TJONDWU
(C) TJQODWU
(D) TJQOEWU

A1=
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a7, fad @ ag=mm i e

wiefara = wa= Fifen
qutubgarh

1) puludpsid
2) dngnplsLp
3) hragbutugqg

4 drspdutup
(A) 1

(B) 2
(C) 3
(D) 4

. UE =i A oA e T oA e

7. f gt mwm R, aw d 7 G
IR A AR A A e 7 feoft
FRmATme I Fatan 7 R
W e | 39w R d e gt
(Fer =, ) it ofi 7

Ay 7

(B) 28

(C) 14

(D) 21

. Tamm e =Ry |

(A) =@ e o
(B) fewz:%m
(C) =t U
(D) wEmw: iRe

. uRstE R e e, g s, de A

FH, T H A SR A T
i e 3 B Rl vt w7

(A) g

(B) 4e

(C) T

(D) A

| i 




m JDD-85/STAT/X-15

lil) Arithmetical and Numerical Ability

41, Six years ago, the ratio of the ages of 45. Onselling achairat7% lossanda lable
Kunal and Sagar was 6 : 5, Four years at 17% gain, a man gains Rs. 296, If he
henice, the ratio of their ages will be sells the chair at 7% gain and the table
11 - 10. What Is Sanar age at presem ? at 129 gain, then ha gains Rs. 400, The

Lo agarage st pr : actual price of the table is
(A) 10 years (A) Rs.2,100 (B) Rs. 1,900
{B) 12years (C) Rs.2,200 (D) Rs. 2,400
(C) 14 years
46. What will be the compound interest on
(D) 16 years As. 25,000 after 3 years at the raﬁtﬂ
12 % per annum 7

42. A candoa piece of work in 10 days; B (A) Rs.10,123.20
ool b toes (I e
rest o was fin in .
days. If they get Rs. 1,500 for the whole (€} Re-10,12540
work, the daily wages of B and C ars (D) Rs.10,123.50
(A 190 (8) 225 47. A sum of monay amounts to Rs. 9,800
(CYy 275 (DY 350 after 5 years and Rs. 12,005 after

8 years at the same mlﬂufslrrrph interest.

43, Sixteen men can complete a work in bldohiaayiduicigiant s o i
twelve days. Twanty-four children can (A) 5% ""_E'} 8%
complete the same work in eighteen (C) 12% (D) 15%
days. Twelve men and eight children -
started working and after eight days | 48. A clock sirikes 4 taking 9 seconds. In
three maore childran joined them, How arder to strike 12 at the same rate, the
many days will they now take to time taken is
caomplete the remaining work 7 (A} 20 Seconds
(A) 5days (B) 4days (B) 22 Er_ew:unds
(©) 10 days (D) 12days (C) 33 Seconds

(D) 30 Seconds

44, A trader mixes 26 kg of rice at Rs. 20 8. F T b i
per kg with 30 kg of rice of other variety - FIOm a poil ] grounc,

. angle of elevation of the top tower is 30°.
al Rs. 36 perkg gnd sells the mixture at If the tower is 100 m high, the distance
Rs. 30 per kg, His profit percent is of point P from the foot of the tower is
(A) 4% (B) 5% (A) 148m (B) 156m
(C) 8% (D) 10% (G} 173m (D) 200m




41.

42,

Ax

JDD-85/STAT/X-15

fily sterioTe we HeaTens gt

@Y HIE TEet T 30 HPE F 3N &
FTE 6 : 5 91 | TW HIF 512 Ik IALH
FHIME 11 : 10F | BV I TEHE IR

(A) 10FE
(B) 128
©) 14T@
(D) 16 @&

A 7 T ®W 10 &1 § 3w B 79 5w
15RA A aawa 2 18T s R A
H WA € | @ g wm . aw 2 iR
ol A B | i uwm s e, 1,500
i §, A B 3w ¢ ) ufe B i wergh) 2

(A) 160 (B) 225
(C) 275 (D) 350

HieAs v v am awe i d gofwa # )
) m Hefv w= arewe A B qu s
# | =g el o A1 A= W A IR
i § 3¥0 a1 B = m w0 & ava
i 3R w= it B # | W g wm
Yol i d 3¢ e ho aRg = 7
(A) 5% (B) 4f&
() 10f& (D) 12fA

v st 5. 20 uin e T 26 e
IHEE 3 5, 36 viF B awn 20 e
wHe e Ty fEm T 5 30 v
el TR o A 8 | I T A
(A} 4% (B} 5%
(C) 8% (D) 10%
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45.

48.

47.

49.

e S 1 S| Al 7% ST H S e
17% TATE 1 3= # 5, 206 T4 &4 7 |
af2 e s il 79% & AT W el T

12% HATE T 3= # @ T %. 400 9rE
B & | 35 WS o ana s g ¢

(A} ¥ 2,100 (8) % 1,900

([C) 3. 2,200 (D) . 2,400
12 @ 5 25,000 W3EW F1 |
Heale ST B

(A) % 10,123.20

(B} %.10,123.30

(C) ¥.10,123.40

(D) %.10,123.50

M R e M A W AE g |
% 98003 AEANHE. 12,0058 2 |

STE I AT S 2
(A} 5% (B) B%
(C) 12% (D) 15% ¢

T TE 4 e o fon.8 BEE f) i
@ e | I A AR 12 99 & o
AT EEE

(A} 20H%= (B) 22 ds
(C} 3385E (D) 20#=HE
o 7= & P g # v e vl ao

& I B | ot Iw T A
100me, M|z Haw @ P g i
Zh

(A) 148 m
(C) 173m

(B) 156m
(D) 200m
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A man sold an article at 10% loss. Had
he sold for Rs. 54 more he would have
made a profit of 20%. Whal was his
actual selling price 7 (in As.)

(A) 180 B) 162
(c) 216 D) 300

The curved surface area of a gylindrical
pillar is 264 m? and its volume |s 924 m®.
Find the ratio of its diamater to its height.

(A} 63 (By 90
(C) 126 (D) 456

The cost of the paint is Rs. 36.50 per
k. f 1 kg of paint covers 16 square feet,
how much will it cost to paint cutside of
a cube having B feet each side 7

(A} Hs, 850 (B) HRs. 860

(C) Rs. 876 (D) Fs. 888

if | calculate the probability of an event
and it turns out 1o be .7, | know that

(A} the event is probably going 1o
happen.

the event is probably not going to
happen, .

the probability of it not happening
is.3

| made a mistake

(B)
(C)

(D)

How many two-digit numbers satisfy this
properly ; The last digit (unit's digit) of
the square of the two-digit number is 8 7

(A} 1
(B) 2
(C) 3
(D) None of these

57,

59,

-
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The square root of 64009 is

(&) 253 (B} 347

(C) 383 (D) 803

The calendar for the year 2007 will be
the same for the year -

(A) 2014 (B) 2016

(C) 2017 (D) 2018

£
A man has As. 480 in the denominations
of one<rupee notes, five-rupee noles
and ten-rupee notes. The pumber of
notes of each denomination Is equal.
What Is the total number gf notes that
hae has 7 '

(A) 90
(C) 75

(B) BO
(D) 45

Two trains each 500 m long, are rurn
In opposite directions on parallel tracks.
If their speeds are 45 krvhr and 30 kem'h
respectivaly, the time taken by 1
slower train to pass the driver of
faster one is

(A} 24sec
(C) 22sec

[gf: €0 sec
(D) b8 sec

A train having a length of 270 meter
running at the speed of 120 kmph.
crosses another train running in
direction at the speed of BO kmph

9 seconds. What is the length of thi
other train 7

(A) 320m
(C) 180m

(8) 230m
(D) 210m

Two numbers are Inthe ratioof 15:1
It their H.C.F, is 13, find the numbers.

(A} 195and 143 (B) 194 and1
(C) 192and 142 (D) 190and 1
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50.

51.

e ST U A 10% e E dEan s |
12 364 98 9% 5. 54 TS FA | ¥
EIedl 1 36 200% 1 HEE a1 97 | I TE]

AR T e (w6 e 7
(A) 180 (B) 162

(C) 216 (D) 300

U SehR WO o T Has T AEE
264 m2 B 3N IFH HEE 024 m3 ®
I R W I FA § TR I
HrfE |

(A} B3 (By 90

(C) 126 (D) 45

uF Tz W e 5. 36.50 of Feen 2 o
el B2 8 16 = 52 1 T e wEm R

8 2 AT A1 U 5 A A o F
A= Em ¢

(A) . 850 (B) % 860
(C) % 876 (D) % 886

Te T U T2 o AT 1 Y R Sl
fdnEE 7R, MAmUwe F

(A) HETHZ T EE R

(B) =21 E2 H EE, waer e R
(C) AT e o WA 3

(D) #3 e HR

31 AT ferT T =1 e TR Ee
1 B « e = el o (3 ww)
B SR e Eaise?

(A) 1

(B) 2

(C) 3

(D) = & = e

-15-

.r.—._ | . 4

55,

26.

a7,

58.

53.
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64009 F1= gF &
(A) 253 (B) 347
(C) 363 (D) 803
HIET 2007 51 hevat 35 79 aet S i g
(A) 2014 (B) 2016
(C) 2017 (D) 2018 _
e = e o T T B T A2, T 5

el A2 3N 7 798 9 T e
% 480 3 | medt 21 & @ B genous
HHF # | 36 T e fareel e d Azl

(A) 80 (B) B0
(C) 75 (D) 45
500 m @i 51 ¢4 Toeg Temm o 91 v 23

HE T £ | iE 3 i SEE: 45 kmvhr
31130 kvhr 41, et nferared 29 o
it 2 % SIS I FE § g w
Guul

(A) 24 HFs (B) 50H%E
(C) 22%®s (D) 58FwE"
270 m TFITS i U 24 120 kmph TR &
FeEE | 32 FBre A A e0 kmph i &

STTATE 21 U 24 %1 9 Hehal f un el
? | gaf 35 F T e e

(&) 320m (B} 230m
(C) 190m (0) 210m
FrEEm 15: 11 % HIA A | 4R ==

= H I OE. 137 A1, T8 g A e
(A} 195 31T 143

(B) 194 3% 140
(C) 192 3R 142
(D) 190 #F 144

R ——
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iv) Test of Language : Hindi I
wrra e ; R

g1, fEmTEeE 5. IO HATET ATd = Al ) A e
() i ot o ERerE T e | T
(B) === ga et Eer e T | (A) I e i Sferea & FW0
(C) =P e g e e d (B) Tm B

@ | (C) i T E 3 FRm

(D) T TS W ) # I R
fereme |

(D) 3t wTET Sf B R

st A firem | & e v | w0 st - e o R 7
| (A) T SAfie B F A
(&) e v ferem e e | (B) FA-THAW
(B) = T A firen = & <o | (C) EHERT
(C) & Rt = T i = T (D) Fef-Ram dEA W
(D) v v foee @ & =en 67, e ot e 3 o e Bor
i (9. %. 63 - 67) ; I9 T F AW W HEaIE ¢

forifrfiem Wt o 3w A |

e fil = =g TR ST | T aRe A A = |
T v R s | wa e fa e af a1
iy 1t e A e & | e e o i R
i et Tt = | e i v g ||

B3, e ey = 3fem wid R

(A) = 18 FA
(B) ¥ferR Fratal & HRAW
(C) TTERER =1 ¥H &
(0) VR FF ¢

68, oy EE diamH e |

(A) T FIEA-THA e o il

(B) T T T - (%) ;

(C) T o T -~ -#im Q) S

(D) == H (D} e
.3 ey = w8 6. JEZFLH I

Ay s (A) ETEERTZAT

B) i (B) ARE

(C) CEL (C) Eug =il

D) EEERE (D) = gl




70.

1.

74,

AR 1 e e 8
(A} TR

(B) FoEm

(C) wEm

(D) St o & =

16 9 | qEeEs
(A) FFReHE

(B) = W =EE A
(C) =g

(D) ®2

GEGER-EE
(A) TEH FEEETEA
(B) HEH S W
(C) =ga g
(D) WEATHEEH

T + U = Hawg, @R s AT Eg 2 ¢
(&) FewEE

(B8) s

(C) T |

(D) fE = EY

i w wf e =
(A) T+ 5w
(B) T&F + 3=
(C) T + 3
(D) Tam + ===

A7

‘: o . | s

76,

76,

79.
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Gin ko k: ko & A
(A) e T

(A) g T

(B) TemEmm

(C) FHaTE T

(D) EEEIE

9 wreeTe =1 et v @ o v 30 e
o1 379 =2 2 & 36 FET AT E

(A) e

(B) i

(C) W

(D) ey .
g 8= swwm F i § 7
(A) 6 B) =

(C) = &) #
Yieerased iR T SR e
(A) F9HT (B) *9F

(C) e (D) = q

fid) it A e a0 sEwm a B, R & '
R e 8 § 7 |
(A) B (B) 2
Gy 1 (D) 19
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v) Test of Language : English

T T ST
Find the error in following sentence : 84, You can play with these kittens quite
(a) Ram never has/ (b) visited (c) or safely. (Change the voice)
intend to visit/ (d) foreign countries. .
(A} These kittens can played with
(A) (&) (B) (b) quite safely.
(C) (c) (D) {d) (B) These kittens can play with you
. 1 ; ' quite safaly.
Please' and ‘Thank you' are the little .
courtesies by which we keep the {C) These kittens can be played with-
of life oiled and running you quite safely,
smoathly. )
(D) These kittens can be played with
(A) path quite safehy.
(B} machine
(C) garden Directions for Q. No. B5 to Q. No. 89 : Fill
D) river in the blanks with suitable answer from
corresponding quastion number.
51 : And then Gandhi came. If we have so many young pecple with good

P : Getoff the backs of these peasants
and workers, he told us; all you
wha live by their exploitation.

@ : He was like a powerful curmant of
fresh air, like a beam of light, like-a
whirlwind that upsat many things.

R : He spoke their langu ag'e and
constantly drew their attention 1o
thelr appalling conditions.

S : He didn't descent from the top, he
segmed to emerge from the
masses of india.

Political freedom took new shape
and then acquirad a new content.

The proper sequence should be
(A} QPSR
(B) RSPQ
(C) SRQP
QSRP

858

(D)

gualifications 85 for a job, how come there
is such a _86 of good talent in the market 7
Millions of students graduate every year in
India and enter the job market, Butin reality,
they are __ 87 . The bulk of our diploma,
vocational, engineering and management
graduates come from insfitutions that_B88 them
poody and are unable to assist them with good
job opportunities. On the ather hand, organisations
have a short-term focus on talent where buying
axisting talent seems easier than _89 _in-house.

85.
(A)
(B)
=)
()

Wanting
Trying
Waiting
Applying




BY.

84

80.

A

(A)
(B}
(<)
(0]

(A)
(B)
(G
(D)

(A)
(B)
()
(D)

LAY
(B)
(C)
(D)

scarcity
dread
requirament

less supply

uninterasted
unemployable:
not of good quality
dumb

prepare
frain
leciure

bullding
teaching
preparing
studying

Synonymoaus of Hallowed

(A)
(B)
(C)
(o)

Oid
Sacred
Inactive

Effective

-18-

o1,

92

93.
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Synonymaous of Jeer
(A) Sluggish

(B) Taunl

(C) Friend

() Mild

Select the word which is closes (o the
OPPOSITE in meaning of the bold &
word.

“History abounds in instances of
courage”,

(A) Shines
(B) Lacks
(C) Suffices
(D) Fails

i

Selact the word which Is closes to the
OPPOSITE in meaning of the bold
word.

“The inhabitants of the Island ware
barbarians”. ;

{A) Civilized
(B) Cruel

(C) Uncivilized
(D) Bad

Choosa the correct meaning of below
Idipm :

To sel one's face against

(A) To oppose with determination
(B) To judge by appearance

(C) To getout of difficulty

(D) To look at one steadily




i

95. Find the Wrong spelt word.

(A} Amalure
(B) Manual
(C) Nephew
(D) Athletic

86. Each occupation has itsown
bankers, lawyers and computer
professionals, for example, all use
amoang themselves language which
outsiders have difficulty following.

(A) Merits

(B) Disadvantages
(C) Rewards

{0} Jargons

Directions for Q. No. 97 to Q. No. 100 :

In response to the increasing environmerital
damage wrought by poachers, authorities
placed a ban on ivory in the 1980s. Although
the ban rasulted In an initial decrease in the
sale and trade of legal ivory and a concument
Incraase in the elephant population, more
pressing needs caused most Westem nations
o withdraw funding for poaching prevention
programs. Without significant linancial
support, poorer countries were unable to

Ax

JDD-85/STAT/X-15

affectively combat poachers, The resulting
explosion in the ivory trade has seen prices
increase to nearly 10 timas the $45 per pound
price al the beginning of the decade.

Unfortunately, the countries with the worst
poaching problems have also tended to be the
ones least able to combat the problem due i
unstable political systems, coruption, lack of
comprehansive enforcement programs, or
some combination of all these factors. One
primary hindrance to better enforcement of the
wory ban came from an inability to definitively
identify the country of origin of liegal Ivory.

Countries used this uncertainty to avoid
responsibility for curbing lllegal poaching in
thelr territories by attempting to blame other
countries for the oversights in enforcemeant.
Now, though, zoologists have perfected anew
DNA identification system. First, scigntists
gathered genetic data from the population of
African elephants, an arduous effort that
ultimately resulted in a detailed DNA-basad
map of the distribution of African elephants.
Then, the researchers developed a method to
extract DNA evidence from ivory, allowing
them to match the ivory with elephant
populations on the map. Zoologists hope this
new method will pinpoint the exact origin of
poached ivory and force countries 1o accept
thair responsibility in enforcing the ban.

0=
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87. The passage suggests which of the
following about the ivory ban 7

Ax

(A)

(B)

(C)

(D)

It will be succassiul now that the
DNA-based map has bean
developed.

It has bean mostly unsuccessiul in
reducing the trade of illegal ivory.

It will continue to be ineffectiva
uniess the problems of political
corruption are solved.

Wastern monetary support was a
major factor in its success.

The response of the countries with the
worst poaching problems to the situation
was most analogous to

(A)

(B)

(c)

(2)

a tax evader who uses deceptive
accounting practices to hide her
income from auditors

an embezzler who steals from her
company by pilfering small
amounis of money over a long
period of time

a criminal who argues that It is not
he but one of his accomplices who
i guilty of a crime

a con artist who convinces his
victim that it is in the victims best
tnterest to help him

JDD-85/STAT/X-15

99. The passage suggests which of tha
following about the DNA-based map
created by zoologlsts ?

100,

31

|A)

(B)

(C)

(D)

lts assemblage involved a great
deal of work on the part of the
researchers,

Its craation will force countries Yo
accept responsibility for the ivory
paached from within thelr borders.

Tha map is able to pinpoint the
exact slephant from which
poached ivory was obtained.

It must be updated constantly to
account for changes in elephant
populations.

E
The passage Is chiefly concemed with

|A)

(B)

(C)

\2)

advocating a course of action for
countries with poaching problems

exposing the weaknesses of the
vary ban

pleading with Western countries to
re-institute financing for the ivory
ban

detailing a way 1o overcome a
problem that has lessened the
effectiveness of the ivory ban

. |

B
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SECTION-B
Post Specific Subject-Related Questions
i01. K 'a Is the actual value and 'e" is the | 105. Which of the following is a one-
estimated value, the relative error is dimensional diagram ?
(A) % (A) Square diagram
(B} Pie-diagram
(C) Bar diagram
© | auﬂ% (D) Cube
(D) (a—e)a 106. More than and less than ogives meetat
102. It the actual value of a unitis 415 and its (A) mean
estimated value is 400, the absolute (B) mode
arror s
(A} —15 (C} median
By 15 (D} origin
(C) 0.0375
(D) -0.0361 107.  With the help of an ogive curve one can
datermine -
103, The width of the intervals of the v
continuous grouped data 10 — 19, (A) median
20-29,30-39,40-49,50-591Is ¥ (8) guariiles i
il (C) percentiles
(8) 10
©) 95 (D) all the above
&) 163 108. If the grouped data has open end
104. The column heading of a table is classes one cannol calculate
oW 8% (A) median
il B rtiles
(B) stub (B) qua
(C) caption (C) mean
(D) none of these (D) declles
A 23-




101,

102.

103,

104.

e -
e w T e - wanfi om

g% ‘a' ¥ AR qeg 8, 3 e uw
SR e &, o e e 2

(&) 8,
@ @-e)y
) |a—e/[€

(D) (a—eya

afe T T = AR T 415 & ol
I AT A 400 &, 7 e e 8
(A) =15

(B) 15

(C) 0.0375

(D) -0.0361

10— 19, 20— 29, 30 - 39, 40— 49,
50 - 59 78 T wgfita ara & saue
I wEE

(A) 9

(B) 10

(C) 95

(D) 105

e & & 3ivds =) e §
(A) wm

(B) e

(C) =

(D) ¥ HFE A

105.

106.

107.

108,
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(A) HIRR STE
(B) TE-¥H@
(C) WR-a37iE
(D) =

aftm & Afis 3 0 A 50 e
(i) et s § fier &

(A) wmeR

(B) wEET
(Cy i
(D) et

TaTEE T o gere A v A PuifE e
CETE

Ay e
(B) =e
(C) A
(D) Fait i

i
e 4 | e e - e @ 7 n‘

g i g o B s et wEn R
? 9128 30 i wen oeE T b

(A) TPEERT l
(B) =g i

(C) #T™=g

(D) =ET9
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109.

110.

111,

i

113.

The average of proportions 0.16 and 114.

0.0 is
(A) 0.4
(B) 0.7
(C) 0.0B5
(D} 0.04

A train covered the first 5 kms at a speed
of 30 kms/h and next 15 kms at a speed
of 45 kms/h. The average speed of the
traln Is

(A) 35 kmsih
(B) 40kmsih
(C) 32kms/h
(D) 42 kms/h

115.

The A.M. of two numbers is 6.5 and their
G.M. is 6. The numbers are

(A) 9.6
B 9,56
(C) 7.8
D) 4,9

The sum of 'n’ chservations is 630 and J
their mean is 42, then the value 'n' Is

(A) 21
(B) 30
(C) 15

(D) 20 118,

The median of the values 11, 7, 6, 9,
12,15, 1918

(A) 9

(B) 12
(C)
(D)

15
1

1186.

17.
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Sum of the deviations of the values from
their mean is

(A}  minimum
(B) zero

(C) maximum
(D) none of these

Mode s graphically obtained by

(A) frequency polygon -
(B) ogive curve
(C) histogram

(D) none of these

Sum of the absolute deviations about
median Is

(A)
(B}
(C)
(D)

ZEM0
maximum
minimum
none of these

Mean deviation is minimum when
deviations are taken from '

(A) mean

(B} median

(C) modea

(DY none of thesa

Average wage of workers of a factory is
Rs. 550 and the standard deviation of
wages is 110. The coefficient of
variation Is

(A) 30%
(B) 15%
(C) 500%
(D) 20%
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109.

110,

111.

112,

113

0.16 3% 0.01 =1 Frma sTE @
(A} 0.4

(B) 017

(C) 0.085

(D) 0.04

T 3 TEelt 5 kms 1 g8 30 kms/h TR A
sir AR 1 15 kms F1 20145 kme/mnfa &
ot et # |34 2 o e i 8

(A) 35kmsih

(B) 40 kmsth

(C) 32kmshh

(D) 42kmsh

2 deral = AM. T8 65 ¥ 3t 3
GM.UE6R | TEHEAN B

(A) 9,6

(B) 9,5

() 7,8

(D} 4,9

‘' HEEEA] o 1S 630 § 30 I A
#fz 428, @ ‘v W GFL B

(A} 21

(B) 30

(C) 15

(D) 20

11,7, 6,9, 12, 15, 19 WF41 =i HTEH &
(A) ®
(B) 12
(C) 15
D) N

114,

118,

116.

117,

118.
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e # forae & oE S gEa B
(A) —HdaH

B8) A

(C) iftram

(D) % B T A

FEAF F AERE YEH | 8 W T
EIIE

(A) TERA T G
(B) ~HaTEE = {
(C) Tee2mm

(D) ol & =g e

m%m@hﬁﬂﬁaﬁm%
(A) ¥H

(B) sifirran

(C) 7w

(D) §H A S A

wreg feraer wﬁm%ﬁﬂﬁwﬂ
# e #

(A) W= H
(B) wieiER

(C) =Ee*
(D) o B

e Ut 3 et ot o weEll E, 550
 off w0 O R B 1108
Tormmm R |
(A) 30%
(B) 15%
(C) 500%

(D) 20%




118.

120.

121.

122,

If the mean of a series is 10 and its
coefticien! of variation is 40%, the
variance of the series is

(A} 4

(B) 8

(C) 12

(D) none of these

If each value of a series is multiplied by
10 tha coefficient of variation will be
mcreased by

(&) 5%
(B) 10%
(C) 15%
(D) 0%

For a positively skewed distribution
(A)
(B)
IC)
(D)

mode <= mean

mode = maan

median > mode

none of these

If the quartiles G, = 15 and Qy = 26 the
coefficient of quartile deviation is

{A) 4

® Y
© %
© ¥

123.

124,

125.

126.
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In the case of positive skew distribution
the extrermne values lig in the

(A) left tail
(B) right tail
(C) middia
(D) any whare

The coefficient of range of set of values
15,12, 27.6.9,18.211s /

(A) 1.571
(B) 4500
(C) 08636
(D) 0222

If the coeflicient of Kurtosis of a
distribution vy, is zera the frequency
curve is called

(A)
(B)
(C)
(D)

leptokurtic
platykurtic
mesokurtic

none of the abova
It a random varlable X has mean 3 and

standard deviation 5, then the variance
of avariable Y =2X -5 is

(A) 45

(B} 100
(<)
(D)

15
40




119.

120.

121.

122,

Ax

Aft v daern w1 wmem 10 B 3w 3w
fermor TR 40% B, e % v R

(A) 4
(B) &
) 12

(D) el & =g e

A spEen & w1 g = 10 ® 7 fan
e &, 7t o o # geelt age Snfi
(A) 5%

(B} 10%

(C) 15%

(D) 0%

T e A & e

(A) =EETE < T
(B) wgeTs > AL
(C) mhﬂﬁﬁﬁ?

(D) W | =ig 7 '
Q, = 1631 Q, = 25 5 =gl F 9 d=
fraem = 2

(A} 4

® ¥
© %
o %

123

124,

125,

1286.
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e feam aves | wfm e e fm
G

(A) =l 3
(B) =i
(C) W

(D) it

.
15,12,27,6,9,18 21 ﬁiﬁﬁﬁ%ﬂlﬁ‘iﬁ

e
(A} 1.571
(B} 4.500
(C) 0.636
(D) 0222

[l vy, VA 1 GG (Fean) O
A R, T ATATN T I Fed £

(A) e (s wER) -
(B) e (3179 i)

(C) Twiie (wen el )

(D) S ohis Tel

R Xy o e 3 B ol s
a5, @Y =2X - ST R U
(A) 45

(B) 100

(C) 15

(D) 40
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127.

128.

128.

130.

It A and B are two events, the probability
of simultaneous occurrence of both
events is

(A) P(A)+P(B)
(B) P(ALB)
(C) P(ARB)
(D) P(A/B)

I twio events A and B are such that
Ac Band B— Athen

(A) PlA) < P(B)
(B} P(B) < P(A)
(C) P{A)=P(B)
(D) MNone of the above

In tossing three fair coins at a time, the

probability of getting al most one
head Is
3 T’
A 3 B 7
4 1
(C) 8 (D) 8

A box contains 5 white and 3 black balls
and B contalns 4 white and 4 black balls
A box Is selected and a ball is drawn at
random from it the probability of drawing

white ball ks
B) Y

w8
D) ¥g

© %

1
131, Eimnmatﬁﬁ}=~;—. P(B)=—

132.

133.

JDD-85/STAT/X-15
3’
P{A/B) =~% then P(B/A) is equal 1o

(A)

(B)

© 3 '

(D) MNone of these

Two cards are drawn at random from the
pack of 52 cards. The probability of
drawing one red and one black card is

2
91
]
51

(A) (B)

SR BB

(C) (D)

Odds In favour of a person hitting &
target are 2 to 5, the probability that a
person hitting the target is

(A)
(B)

(C)

=~jjrp =Jjtn DR

None of these

)




127.

128.

129.

130.

a2 A #fv B g 2 AW & @ 39w
HEATAT i T A1 TE B B e

(A) P{A)+ P(B)

(B) P(ALB)

(C) P{A~B)

P(A/B)
afAsmp A H i AcB
3B o AT

(A} P{A} < P(B)

(B) P(B) < P(A)

(C) P{A)=P(B)

(D) Fl g

= i T T v 39T 9§, Al
Faer v Fy v =) e 2

(o)

(A} (8)

(C) (D)

mles @ W
B=-s =l

Awad H s are sl 3w T H T # aln
B 1 4 e S0 4 = 1 & g 8
AR g FnaE g ars
e v e =T | w0 T P

1 HVTEET B

(A 8 B g
© Y @) g

131,

132,

133.
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A% P(A)= %, PB) =7 ¥t

P(A/B) =-§ & 41 P(B/A) o T B
(A)

(B)

Bl B

1
© 3
(D) 5@ e

52 7 1 e A 2o 51 A P e
F | = e oIV et T o P
HEETa 2

26 26
(A) =z B &
- :
€ &5 D@ %
e ) 4 Fve = fHE i HuET 3eE

e H 28 5§ | 9% S0 e W S
yeef T R

(A)

(B)

=jjm3 =~iltn AR

(C)
(D) T 8 =g 7

\
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134. Odds against a person solving a | 138, |In a negative binomial distribution
problem are 3 to 7, the probability that

the person solving a problem is (A) mean < variance

(A) 3 (B) mean > variance
¥ (C) mean = variance
® 3 (D) all the above
c T 139. I X is binomial variate with mean 4 and
© 10 variance 3 then the parameterpis
3 3
B 35 (A 2
135. The random variables X and Y are (B) 3
said to be independent if 4
P 2
(A} E(X)=ElY) (C) =
(B) E{XY)=1
(€) E(X)E(Y) = E(XV) il

(©) EX}E(Y)=1 140. Limiting form of hypergeometric . «
distribution is
(A) Poisson distribution
(B) Binomial distribution

(C) Negative binomial distribution

136. In a binomial distribution J
(A) mean < variance
(B) mean = variance

(C) mean = variance

(D) all the above (D) None of these
137. In a Poisson distribution 141. Limiting form of binomial distribution is
(A) mean < variance (A) Megative binomial
(B) mean > variance (B) Geometric
(C) mean = variance (C) Poisson
(D) all the above (D) Bernoulli
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Ax

T HEET 7 0 o S E g 3
A 7R | T o v e s B

3

(A) -
4
B 5
7
(C) 10

- —

T

X # Y I 7 argeas =i w
e &, a2

(R) EX)=E(Y)

(B) E(XY)=1

(C)  EX) E(Y) = E(XY)

(D) E(X)E(Y)=1

frmavza A d R
(A) WG < TEM
(B) WA > THIM
(C) AT = TH
(D) wiEs

TigE T § BT
(A) W < WET
(B) WA = THEW
(C) WA = W
(D) FIE
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A Ta9e e | Bial &
(A) WTET < W

(B} W|TEF > T

(C) #re = W

(D) =uiad

T X ue favm fme w4 8 sl
3 p = R {

(A)
(B)

()

-éﬂm b b]od

(D) =7 & 1S AR
St wues = HinEa e -

(A) TTFEE T !
(B) fawm e
(C) TR e sved

(D) T & Fg 7 | &

Tt sz =1 wimrn v B
(A) T EEE

(B) TN

(C)

(D) =

|
’
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144.

5

146,

Ax

Forgetfulness property holds for the
distribution

(A)
(B)
(C)
(D)

Binomial

Poisson

Geometric

Negative binomial distribution

In a distribution all cumulants are equal,
the distribution is

(A} Binomial

(B} Poisson

(C) Geomelric

{D) MNegative binomial distribufion

Geometric distribution is a particular
case of

(A)
(B)
(C)
(D)

Binomial

Poisson

Megative binomial
None of these

if X ~ bin, p} the distribution of n - X'is
(A) b(n, p)

{B) bin,qj

(€} bin )

(D) Mone of these

The particular case of negative binomial
distribution is

(A)
(B)
(C)
(D)

Binomial

Poisson
Hypargeometric
Geomeatric distribution

147,

148.

149,

150.
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The moment generating function of
binomial distribution is

(A (q+pe’)”
(B) (q+pe')
(p+ge)
(D) (g+pe’)" €

(C)

The points of inflexion of normal
distribution curve are

(A)
(8)
(<)
(&)

gty
wto
ta

=4

If a random variable X has probability
distribution

X -1 =2 1 el
= | 1 1 "

.3 Saaialll

Then the expected value of X is

™ %
® Y
© %

(D) None of these

It X has Poisson distribution with
parameter 4, the M.G.F. of Xis

(a) e (B) g0
(C) (D) g~

g’
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FITRETE 7 ToTe §6 aves WS R 8
(a) T

(B) TR

(C) "I

(D) Fomee faudh ave

i wvem & v e wwanE EE A
TE AR

(A
(B) wHEa

(C) T

(D) e et s

wT i Tue 78 ga e semr g
(A) Bm

(B) igs

(C) =mam i

(D) 5 8 e el

Tf2 X - bin, p) 2 A n— XU
(A} bin, p)
(B} bin,q)

() bin, 1)
(D) = B =

Fomea ey sveT w1 R vew
AT

(A) T

(B} e
(C) wARwUeI
(D) TrorTely s
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147, oo svem &1 vites 99 sem 2

148,

1408.

160.

(A) (q+pe")”
(B) (g+pe'y
C) (p+gey
@) (g+pe’)™

AW V2 7 & 0 foieg #1018
(A) otp

(B) pto '
(C) zo

(D) =u

T2 X A w wwEm ave
X .1 =2 3 2

p A T [ |
W B i i B

& 71 X 1 R g 8 L

I X 1 W & e TR A

AXFTIMGF
LY (B) oM

(C) o™ (D) exit-eh
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154,

Ax

A box contains 12 items of which 4 are
defective. A person salects 6 temns from
the box. The expected number of
defective tems in the selection is

(&) 2
(B) 3
(C) 4
(D) MNone of these

The area under the standard normal
curve between z=11.96 is

(A)
B)
()

(D) 10%

For a normal curve the Q.D., M.D. and
S.D. are in the ratio

(A) 5:6:7

{B) 10:12:15 ’
(C) 2:3:4

(D) MNone of these

X and ¥ are two independent Gamma

varates the distribution of ;xl; is

Beta variate of the | kind
Beta variate of Il kind
Gamma variate

None of these

(A)
(B)
()
(D)

1585.

156.

157.

158,

158.
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Students t-distribution was introduced by
(A) G.W.Snedecor

(B) R.A. Fisher

(C) W.S.Gosset

(D) None of these

The limiting form of t-distribution is

(A F

(B) Cauchy 4
(C) Chi-square
(D) None of these

WZy, Za, ..., £, are independent 5.N.V's

the distribution of 52| Is

(A} Studentst

(B) %" with (n=1)d.

€ % withndd.

(D) None of these 5
The mode of x” distribution with n d.f. is
(A} n=1

(B) n-2

(C) m

(D) None of these

The relation between t and * is
A Ji=yt
B t=x

©) =
(D) Mone of these
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151,

152.
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154,

A

w12 36§ o T A EnE
# | v =fF 30w H @ 6 95 W
TR | 38 = 1 e 20 i e R

F AR

(A) 2

(8) 3

(C} 4

(D) % & &5 8
7 =+1.06 ¥ 4 F gFF A a5
AT A R
(A) 85%

(B) 90%

(C) 5%

(D) 10%

AT % o e Q.D., M.D.RSD. W
ST A FH E

(p) 5:6:7

(8) 10:12:18

(C) 2:3:4

(D) T & FE A

xmv%ﬁﬁmﬁmm%m
qUE B

(A} | SRR =R e

(B) 1R e

(cy mmEifEER

(D) T g

165,

156.

157.

158.

159.

(A} F &
(B) et (Cauchy) »
(c) =t-=f (Chi-square)
(D) T A g T

Rz, 2, .. 2, wEEASNY.§ &
Y7, mave

(A) wEEt

(B) (n-1)dfFamay

€) ndfFwmy’

(D) B

0o T S e A
(A) n—1 : *
B8 n-2

{C) m
(D) T & wrd e ,'

vafw o & e W e R
(AY Ji=y°
B t=%"

C) F=\x |
(D) % & =il Tl




160.

161.

1B62.

163.

Mean of F-distribution with m and n
difornz2is

n
W m=2

_m_

B 72

e

© m-z

(D) n-2

Curve of F distribution is
(A} negatively skew
(B) positively skew

(C} symmetric

(D} none of these

F distribution has
(A) one parameler

(B) twoparamelers '

(C) noparameter
(D) none of these

Binomial distribution is symmetric if
(A) p=0
(B) p=1

s ]

C) P=

1
@) P>3

164.

©)

165.

166,

167.
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Random variable has F distribution with
4 and 7 d.f. itls mode is

(&)

(B)

Wl =~iln s

(D) none of these

The number of possible samples of size
n from N population units without

replacement Is

(A) e,
(B) N

(C) N,
(D) none of thesa

The number of all passible samples of
size two from a population of 4 unils

without replacement is
(A) 16

(B) &

(C) 12

(D} none ol these

(A) biased estimator
(B) consistent estimator
(C) unbiased estimator
(D) none of these




i
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161.
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163.

Ax

nz2#

(A)

® 5z
& =5

® 73

F a2 1 95 B 2
(A) U faey
(B) wTee

(Cy =mfEm

(D) s & &g ol

F &2 &1 e
(A) U WTEE

(B) =W

(C) et =iy

(D) Z78 | =iE T

T sves anfim e & af
{lﬁl} p=0
B) p=1

() p=

haj—= PR3

(D) p>

165.

186.
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4 3% 7 dif. T IRfeeE W F 3
# | I S B

(A)
(B)

(©)
(D) i &g el ’

N #H5/ 5 § 8 sfeymm &8 i
ST o T 509 T e #

(A} ng

(B) N

(C) ng,

(D) T & = A

4 TS & wEm § & T afmE F &
HEA B

(A) 16

(B) 6

(C)y 12

(D) & & =08 e

R Ef)=0 ¥, MFTF=A3
(A} T R

(B) HITH ITFE

(C) MM s

(D) 57 4 =g el

Wi =I|M |
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169,

170,

171.

172

Ax

Bias of an estimator can be
[A)
(B)
()
(D)

positive
negative
elther positive or negative

always zero

Tha type of estimates is

(A) point estimales

(B) interval estimates

(C) estimator of confidence region
(D) all the above

The maximum likelihood estimators ara
nacessarily

(A} unbiased

(B} sufficient

(C) most efficient
{0 unique

For a sample from Poisson pruIaﬂun
P(%) the MLE of A is

(A)
\B)
(C)
(D)

madian

mode
geometric mean
mean

A hypothesis may be classified as
(A)
(B)
(C)
(o)

simple
composite

null
all the above

173.

174,

175.

176.

It an estimator T, of population
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If the expected value of an estimator is
not equal to its parametric function, it is
said to be

(A) unbiased estimator
(B) consistent estimator
(C) biased estimator
(D) none of the above

“: Hi. !E,. LT In hﬂmm Bﬂﬂﬂ-ﬁ “'I:'.'ﬂ'll
a population NI0,¢°), the sufficient
statistic for o Is

Ay XX
® (Ix)

c) 3 X
(D)

none of these

parameter § converges in probability to
@ as n tends to infinity is said to ba

(A} consistent
(C) sufficlent

(B) efficient
(D) unbiased

A sample of size 12 is taken from a
normal population is expected o have
mean 50. The sample has a mean
with a variance of 25. TotestHy it =
against H, : = 50 we use

(A) Z-test (B) X2tast
(C) test (D) F-test
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171,

172.

Ax

AT S T B a2
(A} HATEE

(8) FeEF

(C) ST a1 T
(D) wHETE

HTHETF + TR B

(A) Torg e

(B) SF=HIE SThes
(C) Tavm &3 %1 3 Fas
(D) i ad

TR WY A st e
(A) e

(B) i

(C) redimt v

(D) 3+

P(A) % e weEm & T o o
MLE g 2 .

(A) wTfEE

(B) =R

(C) wiyfers ey
(D) =

S 1 78 TR e o waan B
(A) =T

(B)

(C) a7

(D) FHiwd
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176.
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qFR 37T o1 ST e I
= & T T e, e A e

(A) R T
(B) TR WFwF
(C) TTm 3T
(D) 399 @ o i

af2 N0, o° | FEmEm 4 x,, x5, ..., 4, 7E
T A B, 91 o° % ford i
iR 8

(A) XX

@ (Ix)

€ XX
(D) ST A= A

A SRR Wi @ 1 T, A
N T i ST ST T E 0 B ETe
AT A §, T 98 S

(A} HTH (B) e
(C) (D) bR

T WA FEEE @ e i g
TRETOT 12 51 W1 50 AT T e
B | T T 64 2 3T 253 | H,
B=50 H, : u«50 F Fwa v
T % oy e 3w <R |

(&) ZiiEm (B) X-qiiem

(C) e (D) F-ullem
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177

178.

179.

180,

The hypothesis that the population
variance has a specified value can be
tested by

(A) F-test
(B) Z-test
(C) X-test
(D) ttest

Power of a test Is related to

(A) typelarmor

(B) typellerrcr

(C) bothtype | and type |l errors
(D) none of tha above

To test H,:pu=p against H p>y,
when the population 5.D. in known the
appropriate lest s

(A) ttest
(B) Z-test ‘
(C) XZ-test
(D) F-tast

The lines of regression intersect at the
point

(A} (0,0)
(B} (1,1)
€y (%9)
(D) (xy)

181,

182

183.

184.
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it r=+1 the two lines of regression are
(A) coincide with each other

(B} parallel

(C) perpendicular to each other

(D} none of thesa

If r = 0 the two lines of regrassion llm
(A) parailel '
(B) coincide

(C) perpendicular

(D) none of these

If r is the simple correlation cosfficient,
the quantity r2 is known as

(A) coefficient of determination

(B) coefficient of non-datermination
(C) coefficlant of causation

(D) none of these

The two lines of regression ara
Xx+2y-5=0and2x+ 3y-8=0
then means of x and y ara

(A} (-3, 4)
(B) (2.4)
€ (1.2
(D) none of thase




177, Fader v = fafire g d, 9w
S T T e e

(A) FwfiEm

(By Zufigm
(C) X2t
(D) rofiam

178, i) 5 e YA T

(A) | HERT R TIET

(B) 1 ST = e

(C) A | 3 |1 R ) e

(D) FeliwE

179, ﬂl'ﬂﬂﬂﬂﬁﬂﬁ.ﬁ:ﬁﬁﬂﬂﬂ:u}uﬂﬁ
forg Hy 11 = o 0 T 03 % e wred
e

(A} taiiEm

(B) Z-wimor

(C)y XEwdEm

(D) Fdem

180, wawEw i a3 fag Wl

il 8
(A) (0,0)
B (Y

€ (®7V)
(D) (% v)
Ax

181.

1B2.

183.

1B4.
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afe ¢ = 18, Frammrae & & E
(A) O FECH STE

(B) EHWIH

(C) | Afirera

(D) T E T A

G

oft ¢ = 0 7 w2
(A) HEETH

(B) 3= .
(C) s

(D) wAH AR

t

IR e I HEEE U © Al 2
T D R '

(A) Tt 7T .
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if v i 2 x4 2y - 5= 041 5
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186.

187.

188,

Ax

Tha regression coefficient is
independent of change of

(A} scale

(B) orgin

(C) both scale and origin
(D} none of these

if dual has an unbounded solution,

primal has

(A) no feasible solution
(B) unbounded solution
(C) feasible solution

(D) none of these

For maximization LP model the simplex

method is terminated when all values
(A)
(B)
(C)

(D) z=0

The solution of transportation problem
with m rows (supplies) and n columns
(destination) is feasible if number of

positive allocation Is
(A)
(B}
(C)
(o

m+n
mxn
m+n+1

m+n—1

185.

180,

191.|

192.
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With three attributes A, B and C the
number of second order class
frequencies is

(A) 6
B) @
€ 12
(D) 15

If for two attributes A and B the class
freguencies hold the relation

(AB) (cxB)=(AR) (aiB) then the value
of Qs

Ay 1
(B} -1
(C) O
(D} Mone of these

Trend is tima sarias-nua;é..': -
(A)
(B)
(C)
(D}

long term regular movemeant
short term regular movament
irregular movement

none of these

Increase in the sales of umbralla during
rainy season is an example of

{A) Trend

(B) Cyclical

(C) Irregular

(D) MNone of these
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Ax

o e A A T R
T 8] 9= |

(A) T

(B) FEg

(C) WM i ety A
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(A) €-250

(B) ¢-%=z=0

(C) ¢—-z=0

(D) 2z <0

itEe EHE %1 TR e m i
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¥1 & aft weTeTE AT o GE R 8
(A) m+n

(B) mxn

(C) m+n+1

(D) m+n-1
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A, B 3% C 7w A Frémmaii % aw gat
w0 1 ity e

(A) 6
B) 9
C) 12

=
.

(O} 15
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(A) 1

& -1

(c) 0
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194.

196.

186.

Laspeyre's index number possess
(A)
(B}
(C)
()

Downward bias
Upward bias
No bias

None of these

Variation in tha items produced in a
factory may be due o

(A) Chance factors
(B) Assignable causes

(C) Both chance and assignable
causes

(D) MNone of these

Variation due to assignable causes In
the product occurs due 1o

(A)
(B)
(C)
(D)

Faculty process .
Carelessness of operators
Poor quality of raw material

All the above

Vital statistics is mainly concemead with
(A}

(B)
IC})

Births
Deaths
Marriages

(D) Al the above

197.

198.

188,

200,
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Vital statistics is obtained through
(A) census operaftion

(B) registration system

(C) survey mathod

(DY all the above

In a completely randomized design with
't treatments and 'n’ experimental units
the error degreas of freedom s

(A) n-t

B8 n-t-1

{C) n=t+1

(D} t—n

In & randomized block design with
4 blocks and 5 treatments the error
degrees of freedom will be :
(A) 12 "
By 1 '

(Cy 10

(D) 20

While analysing the data of 5 = 5 Latin
square, the error degrees of freedom for
analysis of variance is

(A)

(B)
()

12
25
186
24

()
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(B) n-t-1
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. Di
‘elatement is followed by four alternative
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IMPORTANT INSTRUCTIONS TO CANDIDATES

This booklet contains 48 pages.

Flease check all the pages of the Booklat
carefully, In case of any defect, please ask
tha invigilator for replacement of the Bookiat,

tions | Each question or incomplete

suggested answars or completions, In each
CESE, you are required to select the one that
cormeclly answers the question or completas
the statemant and blacken (@) appropriale
circie A, B, C or D by Blue/Black Ball-Point Pen
against the question concerned in the
Answer-Sheel. (For V.H. candidates
corresponding circle will be blackened
by the scribe)

Mark yeur answer by shading the appropriate
circle against each question, The circla should
be shaded completely without leaving any space.
The comact method of shading Is given below.

Wrong
CeE00I0e00

The Candidate must mark hisher response
after careful consideration.

There is only one comracl answer 1o aach
question, You should blacken (@) the circle
of the appropeiate column, viz., A, B, Cor D,
It you blacken (@) more than one clrcle
againsi any ona question, the answar will be
freated as wrong. If you wish to cancel any
answer, you should completaly emsa thal black

mark in the drele in the Answer-Sheel, and

ihen biacken the circle of revised response,

. A machine will read the coded Information

in the OMRE Answear-Sheal. In case the
infarmation s incompleta/diterant from the
information given in the application form, the
candidature of such candidate will be treated
a5 cancelled.

Use fhe space for rough work given in the
Question Booklet only and not on the
Answar-Sheaal.

. Youare NOT required to mark your answers

in this Booklet. All answers must be
indicated in the Answer-Sheat only,
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Go through instructions given in Page No. 1 (Facing Page)
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